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1. ��¥

2. Ùp�«

3. ý9Cq

4. OÏd"�.

5. �V�ê

6. U��Ý
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1. NaCl(��� ê´µ "

2. �Ý� L���¬N¥>fÅ¼ê ψ(x)�±Ï>.^��µ "

3. U�´��OëY�§��U�¹k �G�ê§�õ�N

B �>f£�T¬N¹k N ��f¤"

4. �âÀ�–k�>.^�§��gd>f�Å¥�L«�µ "

5. N%á���f��Ý�µ "

6. �~�.�Ì�b�´µ "

7. 3¬��Ä¥§,�ªÇ�²þ(fê n̄ = "

8. �NÚ��NU�(��Ì��O´µ "

9. �����f!��f�¡È�È�µ "

10. duÉ�¬�±Ï5���§¬Nk �¬X¶ «
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1. ���ü�f¬�d6��f|¤§Á¦T¬���ÄªÇÚ�Å"

2. >f3±Ï|¥�³UL«�µ

V (x) =


1
2
mω2 [b2 − (x− na)2] , na− b 6 x 6 na+ b

0, (n− 1)a+ b 6 x 6 na− b

Ù¥ a = 4b§ω�~ê"

(a) ÁxÑd³U­�§¿¦Ù²þ�¶

(b) ^Cgd>fCq�.¦Ñ¬N�1�Ú1�B�°Ý"

3. �,n�¬N�ÚÑ'X� ω = cq"

(a) ¦�ª�Ý¶

(b) Á^�~�.¦¬N�":�ÄU E0¶

(c) ¦¬N'9 CV§¿?ØÙ$§4�e�§Ý'X"

4. |^;åPCq§O�¡%á��f¥�f s��Uþ Es(k)§¿¦U�.Ü�k��þ"£�

�Ä�C��f�p�^¤

5. �k�üd7á§äk{üá�(�§¬�~ê a = 3.345× 10−10m"Á¦µ

(a) ¤�¥��»¶

(b) ¤�¥�Ùp�«>.��áål"
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